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Barbershop Style: It’s all in the chords!
The most distinctive hallmark of barbershop harmony is the “barbershop 7th” chord.  This chord is made by taking a regular major triad (1,3,5 or do, mi, so) and adding a minor seventh (a flattened “ti”).  What makes this chord so special is its ability to move the song into a new key, and movement toward a new key creates tension and excitement in the listener! To understand why a barbershop 7th chord leads to a new key, take a look at the following chart, referred to as “The Circle of Fifths.”
Circle of Fifths

Cycle of Chord Patterns
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The circle of fifths is simply a way of arranging keys to show how closely they are related to one another.  Keys are closely related to each other if they share many of the same notes.  Consider the key of C at the top of the circle.  The seven notes of the C scale are the seven white notes of the piano – no black notes (no sharps and no flats).  The key of C will be closely related to keys that share as many of those seven white notes as possible.  The key of F has six white notes and one black note (Bb) and the key of G also has six white notes and one black note (F#).  Because these two keys are the most closely related to the key of C (they share six of its seven notes), they are positioned on either side of C on the circle.  Next out from G is the key of D, which has five white notes and two black notes (F# and C#); next out from F is the key of Bb, which also has five white notes and two black notes (Bb and Eb).  Each successive key adds one more black note (sharp or flat).

Now consider the following interesting fact.  F is a perfect 5th down the scale from C, and the next key – Bb – is a perfect 5th down the scale from F.  On the other side of C we see that G is a perfect 5th up the scale from C, and the next key – D – is a perfect fifth up the scale from G.  In other words, keys that are a perfect 5th apart are very closely related to one another, differing only in one note.


We are now ready to understand how a barbershop chord pulls us from one key to the next closely related key.  Let’s build a barbershop chord in the key of C.  We start with the major triad – C, E, G – and then add a seventh that is flattened: Bb.  But wait a minute!  The presence of Bb changes the key of C into the key of F, since F is exactly like C except for the fact that it has a Bb instead of a B.  When we hear the C7 chord (CEGBb) we feels as though we have left the key of C and traveled to the key of F.  If we now build a barbershop 7th chord on F (FAC + Eb) we will feel as though we have left the key of F and traveled to the key of Bb (because the key of Bb has both Bb and Eb).  


A similar effect happens with keys that employ sharps.  Consider the key of D which has two sharps – F# and C#.  A barbershop seventh on D will consist of the major triad D,F#,A and the flattened 7th – C.  Erasing the C# by flattening it to a C makes us feel as though we have left the key of D and traveled to the key of G (which has only one sharp – F#).  If we now build a barbershop 7th chord on G (GBD+F) by erasing the F# and flattening it to F, we will feel as though we have left the key of G and traveled to the key of C – which has no sharps at all.

Thus, we see that movement around the circle of fifths is achieved by adding minor (flattened) sevenths to major triads.  Barbershop songs use barbershop 7th chords to move the song’s harmony around the circle of fifths.  This creates harmonic interest through a series of tensions and releases!  
